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QUESTION 1

A default network policy is applied to all router interfaces associated with network ports. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

In which of the following scenarios is the egress port scheduler useful? (Choose two) 

A. A customer is complaining that his VoIP traffic is being dropped even though it is sending the correct DSCP
markings. Packets are not being dropped on ingress. 

B. A customer is complaining that his VoIP traffic is being dropped even though it is sending the correct DSCP
markings. Packets are being dropped on ingress. 

C. A commercial builder has requested numerous dot1Q epipes, VPRNs, and VPLS services to a business park and is
only paying up to a maximum 200Mbps. 

D. An equipment manufacturer has requested a NULL epipe service that will transparently pass dot1Q between the new
location and national headquarters. 

Correct Answer: AC 

 

QUESTION 3

Click the exhibit button below. 
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Based on the configuration shown below, name the forwarding class to be associated with a TCP packet encapsulated
inside an Ethernet frame that arrives on SAP 1/1/5 with the following characteristics: Destination IP address =
120.110.1.1 TCP port number = 23 DSCP value = nc1 Dot1pvalue = 3 

A. H2 

B. NC 

C. L2 

D. EF 

E. H1 

F. BE 
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Correct Answer: C 

 

QUESTION 4

Which of the following are characteristics of 802.1p? (Choose two) 

A. 802.1p adds 16 bits to the Layer 2 header, 

B. 802.1p adds 16 bits to the Layer 3 header. 

C. 802.1p specifies 64 different priority levels. 

D. 802.1p uses a field in the 802.1Q header. 

E. 802.1p uses a field in the Layer 3 IP header 

F. 802.1p defines a 3-bit Class of Service field. 

Correct Answer: DF 

 

QUESTION 5

Which of the following statements about the consequences of congestion is TRUE? 

A. Negative jitter results in a smaller than expected interval between transmitted packets. 

B. Jitter does not have any effect on the quality of video applications. 

C. Serialization delay is not affected by congestion. 

D. Queuing delay is a fixed form of delay in networks. 

Correct Answer: A 
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